
Genuine Accessories

Electronic Installation Instructions

Glasses Gloves

Mask Hearing Protection

Part Weight (Gross) FMVSS 110 Compliance Information

1) Read the entire Installation Instructions prior to beginning the installation of this accessory.
2) Make sure the vehicle is completely clean and dry in the area(s) the part is to be installed.
3) Ensure the vehicle is properly protected in the area(s) that the accessory is to be installed.
4) NEVER place tools on painted surfaces, seating surfaces, dash pad, console or floor carpet/mats.
5) Always wear appropriate personal protective equipment, including gloves, safety glasses, etc., when required.
6) Roll down the driver's window and adjust the power seats (if applicable) prior to disconnecting battery power, if needed.
7) Make sure there are no metal chips on trunk floor after installation is completed.
8)

Language English

5/1/2019Rev. Date

Accessory:Accent 4-DR / Elantra 4-DRVehicle Models: Cargo Hook

Elantra Coupe / Sonata

2020~ Sonata

2018~ Accent

2017~ Elantra Sedan

2015~2019 Sonata

2014~2016 Elantra Sedan

Difficulty: ( B )
Difficulty stated above reflects the minimum level of 
expertise required to install the accessory:

(A) Customer     

Model Year 2014~2017 Accent 4-Door

00018 ADU04 (DIO)

Very Important: Prior to installation, confirm the correct mounting location based on the vehicle model that the Cargo Hook will be 
installed. Obtain proper template and ensure it is correctly oriented.

Denotes cautions to be taken to avoid 
vehicle and component damage

Denotes cautions to be taken to avoid 
physical injury or electronic component 
damage

Basic Required Tools

Denotes specific tools that are necessary 
to complete a step

N
O
T
E

Electric Drill

Masking Tape Vacuum Cleaner

10mm Drill Bit
1/8" and 10mm Drill 

Stops
10mm Socket

Rivnut® Tool Ratchet Torque WrenchPrimer

Notes to the installer:

Deburring Tool

Clean Drop Cloth
(Large)

Center Punch

Note:

00018 ADUP4 (PIO)

Instructional Symbols / Definitions

1/8" Drill Bit

Denotes important information to be 
reviewed during the step

Denotes quality processes to be checked 
prior to moving to the next step

Denotes personal protective equipment (PPEs) that 
may be required for a step.  Examples of safety 

equipment icons noted below:
Denotes warnings that may lead to 
serious physical injury or vehicle damage

Entered by 
MPA

If this is a printed copy of the installation instructions, ensure you have the latest revision by
scanning the QR code or by entering the website address listed below before beginning
installation. Use the latest revision date as noted by “Rev. Date” above.

www.hyundaiaccessories.com/admin_media_uploads/installationSheets/00018_ADU04.pdf

(B) Dealer Technician

(C) Master Technician or Specialist

Part No.

Scissors

0.30
kg

lbs

0.14

All dealers must determine if the Net weight they have added in the form of  all options or accessories, when added to the weight of all Port/Dealer 
Installed options or accessories, exceeds the lesser of 1.5% of GVWR or 100 lbs.  If the additional weight does exceed the lesser of the indicated 
thresholds, a “Load Carrying Capacity Reduced” label must be installed.  A black, fine-point, indelible marker must be used to write by hand onto the 
label, the reduced carrying capacity in kilograms or pounds, which is the total weight of all added options and accessories.     
Load Label Part Number:  NP070 - 09003

Revision Date
05/01/2019 Page 1 of 9



Genuine Accessories

No.

1

2

3

4

Hardware Overview

2 2 2 1

* Washers (M6) are only used for 2017~ Elantra

Follow instructions for proper placement of each component.

Foam Block

1

Qty

Templates (DIO Only)

Hardware Bag

Description

DC

Kit Overview

1

1

Cargo Hook

Marketing Bag1

Hardware Total

7

Rivnut® Washer (M6)*

A

Bolt (M6)

B

1 2 3 4

Revision Date
05/01/2019 Page 2 of 9



Genuine Accessories

A. Open trunk lid.
B. Cover vehicle floor panel and bumper with a clean drop cloth.
C. Locate installation position, (left side of trunk) as shown above.
D. If a second hook is being installed, the installation position is symmetrically
    on the right side of trunk.

N
O
T
E

Prior to installation, confirm the correct mounting location based on 
the vehicle model that the cargo hook will be installed.

N
O
T
E

Confirm template is flat against metal surfaces to ensure proper 
alignment of the two hole positions.

A. Obtain proper template from kit. Using scissors, cut out the template along
    the hash lines, including the center portion.
B. Apply masking tape and orient template to the package shelf such that the
    template aligns to the opening and surrounding surface structures.
C. Fully adhere the template to the package shelf and visually inspect for
    proper orientation as shown above.
D. Ensure template is properly oriented and fully seated as shown.
E. Skip to step 13.

3
Clean Drop Cloth

4
Scissors and Masking Tape

Clean Drop Cloth
1 2

Scissors and Masking Tape

N
O
T
E

A. Open trunk lid.
B. Cover vehicle floor panel and bumper with a clean drop cloth.
C. Locate installation position, (left side of trunk, left of the luggage lamp) as
    shown above.
D. If a second hook is being installed, the installation position is symmetrically
    on the right side of trunk.

N
O
T
E

A. Obtain proper template from kit. Using scissors, cut out the template along
    the hash lines, including the center portion.
B. Apply masking tape and orient template to the package shelf such that the
    template aligns to the opening and surrounding surface structures.
C. Fully adhere the template to the package shelf and visually inspect for
    proper orientation as shown above.
D. Ensure template is properly oriented and fully seated as shown.
E. Skip to step 13.

Prior to installation, confirm the correct mounting location based on 
the vehicle model that the cargo hook will be installed.

Confirm template is flat against metal surfaces to ensure proper 
alignment of the two hole positions.

2014~2017 Accent 4DR Only

Template Location    

2014~2017 Accent 4DR Only

2014~2016 Elantra 4DR / 2014~ Elantra Coupe Only

Template Location    

2014~2016 Elantra 4DR / 2014~ Elantra Coupe Only

Revision Date
05/01/2019 Page 3 of 9



Genuine Accessories

5
Clean Drop Cloth

6
Scissors and Masking Tape

N
O
T
E

A. Open trunk lid.
B. Cover vehicle floor panel and bumper with a clean drop cloth.
C. Locate installation position, (left side of trunk) as shown above.
D. If a second hook is being installed, the installation position is symmetrically
    on the right side of trunk.

N
O
T
E

A. Obtain proper template from kit. Using scissors, cut out the template along
    the hash lines.
B. Apply masking tape and orient template to the package shelf such that the
    template aligns to the surrounding surface structures.
C. Fully adhere the template to the package shelf and visually inspect for
    proper orientation as shown above.
D. Ensure template is properly oriented and fully seated as shown.
E. Skip to step 13.

Prior to installation, confirm the correct mounting location based on 
the vehicle model that the cargo hook will be installed.

Confirm template is flat against metal surfaces to ensure proper 
alignment of the two hole positions.

7
Clean Drop Cloth

8
Scissors and Masking Tape

N
O
T
E

A. Open trunk lid.
B. Cover vehicle floor panel and bumper with a clean drop cloth.
C. Locate installation position, (left side of trunk, left of the luggage lamp) as
    shown above.
D. If a second hook is being installed, the installation position is symmetrically
    on the right side of trunk.

N
O
T
E

A. Obtain proper template from kit. Using scissors, cut out the template along
    the hash lines, including the center portion.
B. Apply masking tape and orient template to the package shelf such that the
    template aligns to the opening and surrounding surface structures.
C. Fully adhere the template to the package shelf and visually inspect for
    proper orientation as shown above.
D. Ensure template is properly oriented and fully seated as shown.
E. Skip to step 13.

Prior to installation, confirm the correct mounting location based on 
the vehicle model that the cargo hook will be installed.

Confirm template is flat against metal surfaces to ensure proper 
alignment of the two hole positions.

2017~ Elantra Only

Template Location    

2017~ Elantra Only

2015~2019 Sonata Only

Template Location    

2015~2019 Sonata Only

Revision Date
05/01/2019 Page 4 of 9



Genuine Accessories

9
Clean Drop Cloth

10
Scissors and Masking Tape

N
O
T
E

A. Open trunk lid.
B. Cover vehicle floor panel and bumper with a clean drop cloth.
C. Locate installation position, (right side of trunk, right of the luggage lamp)
    as shown above.
D. If a second hook is being installed, the installation position is symmetrically
    on the left side of trunk.

N
O
T
E

A. Obtain proper template from kit. Using scissors, cut out the template along
    the hash lines, including the center portion.
B. Apply masking tape and orient template to the package shelf such that the
    template aligns to the opening and surrounding surface structures.
C. Fully adhere the template to the package shelf and visually inspect for
    proper orientation as shown above.
D. Ensure template is properly oriented and fully seated as shown.
E. Skip to step 13.

Prior to installation, confirm the correct mounting location based on 
the vehicle model that the cargo hook will be installed.

Confirm template is flat against metal surfaces to ensure proper 
alignment of the two hole positions.

Prior to installation, confirm the correct mounting location based on 
the vehicle model that the cargo hook will be installed.

Confirm template is flat against metal surfaces to ensure proper 
alignment of the two hole positions.

11
Clean Drop Cloth

12
Scissors and Masking Tape

N
O
T
E

A. Open trunk lid.
B. Cover vehicle floor panel and bumper with a clean drop cloth.
C. Locate installation position, (left side of trunk) as shown above.

N
O
T
E

A. Obtain proper template from kit. Using scissors, cut out the template along
    the hash lines.
B. Apply masking tape and orient template to the package shelf such that the
    template aligns to the surrounding surface structures.
C. Fully adhere the template to the package shelf and visually inspect for
    proper orientation as shown above.
D. Ensure template is properly oriented and fully seated as shown.

2020~ Sonata Only

Template Location    

2020~ Sonata Only

2018~ Accent Only

Template Location    

2018~ Accent Only

Revision Date
05/01/2019 Page 5 of 9



Genuine Accessories

Deburring Tool and Primer

N
O
T
E

13

Confirm the cargo hook is flat against the metal surface to ensure 
proper alignment of the holes prior to using the center punch.
Once the two locations are marked, visually confirm they are equally 
spaced outside the opening (if applicable) and the final 10mm diameter 
hole will not contact the radius near the opening (if applicable).
If mark is too close to the radius near opening, reinstall the template 
and confirm placement of the cargo hook prior to using the center 
punch.
Confirm the correct mounting location based on the vehicle model that 
the cargo hook will be installed.

A. With one hand, hold the cargo hook flat against the template and confirm
    proper alignment of the template.
B. Align the center punch over each of the marked positions (cross hairs) on
    the template.
C. Mark each drill location with the center punch.
D. Remove rear edge of template and visually confirm the punch marks are in
    a position clear from the radius of the package self opening to safely use a
    drill bit.
E. Remove the template.

Center Punch

15
Rivnut® Tool

N
O
T
E

A. Deburr the two (2) holes ensuring no burrs remain.
B. Once deburred, apply primer to exposed metal.
C. Allow the primer to dry (approximately five (5) minutes, dependent on
    environment conditions).

14

N
O
T
E

Prior to drilling, ensure the correct location on the vehicle the cargo 
hook will be installed into.

Do NOT oversize the 10mm drill hole.
Be cautions not to bend panel hole opening when drilling. Bending or 
ovalling a hole will result in difficulty to insert the Rivnut® and poor 
retention strength.
After drilling, make sure the trunk floor is cleaned of all metal chips.

16

A. Adjust Rivnut® tool for the proper Rivnut® compression depth required
    to secure to vehicle panel. Confirm how to adjust Rivnut® tool through
    the use of the manufacture instructions.
B. Install two (2) Rivnut® using the Rivnut® tool in both drilled hole locations.

A. Install the 1/8" drill stop 3/8" from the tip on the 1/8" drill bit.
B. Visually confirm that no harness is routed over the point of the hole to be
    drilled.
C. Drill a straight pilot hole through panel of package tray. Repeat process on
    second marked point.
D. Change the 1/8" drill bit with the 10mm drill bit and drill stop.
E. Using the 10mm drill bit, open the two pilot holes. Drill at a high speed
    through panel of package tray.

Electric Drill, 1/8" Drill Bit, 1/8" Drill Stop, 10mm Drill Bit, 10mm 
Drill Stop

Confirm that the Rivnut® is secured and flush to vehicle panel once 
installed.

Ensure the primer does NOT get on the vehicle, other than the required 
exposed metal areas.

N
O
T
E

Accent 4 Door / Elantra 4 Door / Elantra Coupe / Sonata Accent 4 Door / Elantra 4 Door / Elantra Coupe / Sonata

Accent 4 Door / Elantra 4 Door / Elantra Coupe / Sonata Accent 4 Door / Elantra 4 Door / Elantra Coupe / Sonata

Revision Date
05/01/2019 Page 6 of 9



Genuine Accessories

A. Orient the cargo hook so it folds forward towards the front of vehicle.
B. Hand tighten two (2) supplied M6 bolts through base of the cargo hook
    and into the previously installed Rivnuts®.

Ratchet, Torque Wrench and 10mm Socket

Ratchet, Torque Wrench and 10mm Socket

N
O
T
E

N
O
T
E

Do not over-torque the bolts. This will cause the previously installed 

Rivnut® to spin in the hole.

A. Using a ratchet and 10mm socket, evenly tighten the two (2) M6 bolts until
    seated.
B. Using a torque wrench, tighten the bolts to: 
    6.8 N.m (0.70 kgf.m, 5.0 lbf- ft).

1817

N
O
T
E

19 20

N
O
T
E

Do not over-torque the bolts.

A. Orient the cargo hook so that hook folds towards rear of vehicle.
B. Hand tighten the two (2) M6 bolts through base of cargo hook, the
    washers and into previously installed Rivnut®. Complete installation as
    noted in step 17.
C. Using a ratchet and 10mm socket, evenly tighten the two (2) M6 bolts
    until seated.
D. Using a torque wrench, tighten the bolts to: 
    6.8 N.m (0.70 kgf.m, 5.0 lbf- ft).

A. Remove the adhesive backing paper from the one (1) provided foam
    block and adhere foam block onto hook handle as shown.
B. Install M6 bolt with washer on top of hook bracket as shown.

If Installing on 2017~ Elantra Sedan, Proceed to Step 19. If Installing on 2017~ Elantra Sedan, Proceed to Step 19.

2017~ Elantra Sedan Only 2017~ Elantra Sedan Only

Revision Date
05/01/2019 Page 7 of 9



Genuine Accessories

A. Remove the adhesive backing paper from the one (1) provided foam
    block and adhere foam block into channel under package shelf as shown.

N
O
T
E

Do not over-torque the bolts. This will cause the previously installed 
Rivnuts® to spin in the hole.

A. Using a ratchet and 10mm socket, evenly tighten the two (2) M6 bolts
    until seated.
B. Using a torque wrench, tighten the bolts to: 
    6.8 N.m (0.70 kgf.m, 5.0 lbf- ft).

The hook should rest in a horizontal position when not in use.

24

A. Lower and raise the cargo hook and visually confirm the position of
    contact (where the hook touches the body panel).
B. Remove the adhesive backing paper from the one (1) provided foam block.
    Secure foam block to the package tray above the cargo hook as shown
    and compress to ensure good adhesion between the two surfaces.
C. Mechanically confirm the hook lowers and raises freely.
D. Visually confirm there are no gaps between hook and the vehicle panel at
    the fasteners.

21
Ratchet, Torque Wrench and 10mm Socket

22

N
O
T
E

N
O
T
E

N
O
T
E

23

The hook should rest in a horizontal position when not in use.

A. Orient the cargo hook so it folds towards the rear of vehicle.
    NOTE: Image above is generic, refer to step 9 &10 or 11 & 12 for location.
B. Hand tighten two (2) supplied M6 bolts through base of the cargo hook
    and into the previously installed Rivnuts®. 

2018~ Accent & 2020~ Sonata Only 2018~ Accent & 2020~ Sonata Only

2018~ Accent & 2020~ Sonata Only Foam Block

Revision Date
05/01/2019 Page 8 of 9



Genuine Accessories

Wash cargo hook with soapy water as needed. Do not use other chemical based cleaners.

Marketing Card

Care & Cleaning

Vacuum Cleaner

N
O
T
E

25

A. Ensure marketing card is attached to cargo hook.
B. Ensure the clean drop cloth is removed from vehicle luggage area and is
    clean of all debris.
C. If necessary, vacuum vehicle luggage area to remove any metal chips.
D. Close trunk lid.

M6 Fasteners

M6 Washers (2017~ Elantra Only)

ResultItem to be Checked

Folding Hook

Folding Hook

Fasteners are seated into hook at torqued properly.

Hook sits flush to panel with no gaps.

Hook rests in horizontal position and rotates 90° freely.

Visual Check

Card is properly attached to pull strap.

Washers are installed between hook bracket and sheet metal.

Revision Date
05/01/2019 Page 9 of 9


